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QUESTION 1

You have a product specification that has an order component called Provisioning. You are now required to select order
items to be included in this order component by implementing a condition that is based on order item properties.
Consider that you do not want to impact other product specifications that also use the Provisioning function, that the
decomposition rules apply to all product specifications, and that you do not want your logic to be dependent on the
product specification name. 

Given this scenario, where would you define the condition logic? 

A. in the existing decomposition rule condition 

B. in the product specification order component condition 

C. in the orchestration stage order component condition 

D. in the order item specification orchestration condition 

E. in the orchestration plan dependencies condition 

Correct Answer: A 

 

QUESTION 2

Identify the option with the scenario or scenarios that can be implemented in the context of task permissions. 

1.

 The ActivateDSL Role, which requires normal processing of an activation task, requires permission to execute this task
under the "DO" execution mode. 

2.

 The OrderFulfillment Role, which needs to roll back the activation operations previously performed by an activation
task, requires permission to execute this task only under the "Amend DO" and "UNDO" execution modes. 

3.

 The InventoryUpdate Role, which executes reassignment of resources in the inventory system by re-executing a
previously performed task in an order under revision, requires permission to execute this task 

only under the "REDO" execution mode. 

A. 1 

B. 2 

C. 3 

D. Both 1 and 2 

E. Both 2 and 3 
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F. Both 1 and 3 

Correct Answer: E 

Reference https://docs.oracle.com/cd/E35413_01/doc.722/e35415/cpt_order_changes.htm#autoId12 

 

QUESTION 3

Identify two perspectives in Design Studio and Eclipse that can be used to model cartridge entities and develop
XQueries. 

A. Studio Design Perspective 

B. Studio Environment Perspective 

C. Java Perspective 

D. Cartridge Perspective 

E. Debug Perspective 

Correct Answer: AC 

Reference https://docs.oracle.com/cd/E35413_01/doc.722/e35419/dev_studio.htm#autoId0 

 

QUESTION 4

Identify the outcome when an upstream system creates an order and some transformation errors are generated in the
recognition rule. 

A. OSM accepts the order and immediately transitions it to the Failed state. 

B. OSM rejects the order back to the external system with an error message indicating the discrepancies. 

C. OSM queues the order in the web service queue until an administrator resolves it. 

D. OSM accepts the order and transitions it to the Not Started state. 

E. OSM accepts the order and transitions it to the In Progress state. 

Correct Answer: E 

 

QUESTION 5

Why would you create a new composite cartridge? 

A. to assemble a solution in OSM from a complete collection of all composite cartridges 

B. to create multiple solutions in OSM for all composite cartridges 

C. to assemble a single solution in OSM from a collection of component cartridges 
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D. to create a solution that always includes all the component cartridges present in the workspace 

E. Because the composite cartridge feature is not included in OSM. It includes only compound or classic cartridges. 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E49311_01/doc.724/e41610/ sce_com_solution_carts.htm#DSCOM316 

Latest 1Z0-493 Dumps 1Z0-493 VCE Dumps 1Z0-493 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-493 Dumps | 1Z0-493 VCE Dumps | 1Z0-493 Study Guide                                4 / 4

https://www.geekcert.com/1z0-493.html
https://www.geekcert.com/1z0-493.html
https://www.geekcert.com/1z0-493.html
http://www.tcpdf.org
https://www.geekcert.com/1z0-493.html
https://www.geekcert.com/1z0-493.html
https://www.geekcert.com/1z0-493.html

